

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: East Los Angeles - Cesar E Chavez Avenue

Project ID: RMD4102001
Rids Opened: 7/18/2023

Bids Opened: 7/18/2023 Project Manager: Selim Bouhamidi n/a

			Engine	eer's Estimate	(1) Excel Paving Company		(2) Sully-Miller Contracting Company		(3) Toro Enterprises, Inc.		(4) All American Asphalt		
(1) Preliminary Bid Amount			\$4 278 695 60		4,278,695.60	\$4,519,285.30		\$5,207,506.50		\$5,937,976.00			
	it Price Detail					•	., ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	•	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Ψ	,,_0,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Ψ	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Item	Description	Qty	Unit Price	Unit	Amount	Unit Price	Amount	Unit Price	<u>Amount</u>	Unit Price	Amount	Unit Price	Amount
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	5	\$500.00	MTH	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	IMPLEMENTATION OF THE LTWHP	1	\$12,000.00	LS	\$12,000.00	\$8,000.00	\$8,000.00	\$22,400.00	\$22,400.00	\$245,000.00	\$245,000.00	\$25,000.00	\$25,000.00
5	IMPLEMENTATION OF BMPS	1	\$12,000.00	LS	\$12,000.00	\$23,000.00	\$23,000.00	\$58,000.00	\$58,000.00	\$70,000.00	\$70,000.00	\$68,900.00	\$68,900.00
6	OFFICE FACILITIES	6	\$5,000.00	MTH	\$30,000.00	\$3,000.00	\$18,000.00	\$10,500.00	\$63,000.00	\$8,500.00	\$51,000.00	\$10,500.00	\$63,000.00
7	MOBILIZATION	1	\$340,000.00	LS	\$340,000.00	\$398,000.00	\$398,000.00	\$371,600.00	\$371,600.00	\$450,000.00	\$450,000.00	\$268,000.00	\$268,000.00
8	CONCRETE REMOVAL (NON- REINFORCED)	282	\$440.00	CY	\$124,080.00	\$450.00	\$126,900.00	\$458.00	\$129,156.00	\$375.00	\$105,750.00	\$700.00	\$197,400.00
9	CONCRETE REMOVAL (REINFORCED)	1	\$1,320.00	CY	\$1,320.00	\$600.00	\$600.00	\$2,200.00	\$2,200.00	\$1,500.00	\$1,500.00	\$700.00	\$700.00
10	UNCLASSIFIED EXCAVATION	532	\$220.00	CY	\$117,040.00	\$350.00	\$186,200.00	\$140.00	\$74,480.00	\$170.00	\$90,440.00	\$700.00	\$372,400.00
11	CRUSHED MISCELLANEOUS BASE	482	\$176.00	CY	\$84,832.00	\$219.00	\$105,558.00	\$188.00	\$90,616.00	\$175.00	\$84,350.00	\$512.00	\$246,784.00
12	TRENCH BACKFILL SLURRY (CLASS 270-E-500)	23	\$407.00	CY	\$9,361.00	\$200.00	\$4,600.00	\$236.00	\$5,428.00	\$660.00	\$15,180.00	\$1,209.00	\$27,807.00
13	COLD MILL AC PAVEMENT (> 1-1/2 - 3")	553225	\$0.50	SF	\$276,612.50	\$0.90	\$497,902.50	\$1.15	\$636,208.75	\$1.20	\$663,870.00	\$1.40	\$774,515.00
14	GRIND PCC PAVEMENT	4836	\$8.00	SF	\$38,688.00	\$7.00	\$33,852.00	\$4.80	\$23,212.80	\$8.50	\$41,106.00	\$3.00	\$14,508.00

Project ID: RMD4102001

Bids Opened: 7/18/2023 Project Manager: Selim Bouhamidi n/a

				Engine	eer's Estimate	(1) Excel Paving Company		(2) Sully-Miller Contracting Company		(3) Toro Enterprises, Inc.		(4) All Am	erican Asphalt
` ,	(1) Preliminary Bid Amount		\$4,278,695.60			\$	4,519,285.30	\$5,207,506.50		\$5,937,976.00			
(2) Ur	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
15	GRIND PCC WALK	27	\$33.00	SF	\$891.00	\$124.00	\$3,348.00	\$283.00	\$7,641.00	\$120.00	\$3,240.00	\$150.00	\$4,050.00
16	AC PAVEMENT	140	\$440.00	TON	\$61,600.00	\$380.00	\$53,200.00	\$370.00	\$51,800.00	\$360.00	\$50,400.00	\$335.00	\$46,900.00
17	AC PAVEMENT(PATCH BACK)	38	\$440.00	TON	\$16,720.00	\$295.00	\$11,210.00	\$447.00	\$16,986.00	\$615.00	\$23,370.00	\$335.00	\$12,730.00
18	AC PAVEMENT(LEVELING COURSE)	2596	\$143.00	TON	\$371,228.00	\$192.00	\$498,432.00	\$213.00	\$552,948.00	\$185.00	\$480,260.00	\$225.00	\$584,100.00
19	DOUBLE ADJUST MANHOLE	52	\$1,485.00	EA	\$77,220.00	\$1,000.00	\$52,000.00	\$1,200.00	\$62,400.00	\$1,500.00	\$78,000.00	\$1,207.00	\$62,764.00
20	PCC PAVEMENT (HIGH EARLY STRENGTH)	93	\$770.00	CY	\$71,610.00	\$1,100.00	\$102,300.00	\$775.00	\$72,075.00	\$850.00	\$79,050.00	\$644.00	\$59,892.00
21	PCC PAVEMENT (BUS PAD, HIGH EARLY STRENGTH)	18	\$770.00	CY	\$13,860.00	\$1,200.00	\$21,600.00	\$1,130.00	\$20,340.00	\$1,365.00	\$24,570.00	\$921.00	\$16,578.00
22	CONCRETE CRACK SEALING	600	\$16.00	LF	\$9,600.00	\$12.00	\$7,200.00	\$10.00	\$6,000.00	\$36.00	\$21,600.00	\$58.00	\$34,800.00
23	TRMAC PAVEMENT	4689	\$143.00	TON	\$670,527.00	\$168.00	\$787,752.00	\$190.00	\$890,910.00	\$185.00	\$867,465.00	\$265.00	\$1,242,585.00
24	TRMAC PAVEMENT (TEST STRIP)	500	\$150.00	TON	\$75,000.00	\$149.00	\$74,500.00	\$186.00	\$93,000.00	\$195.00	\$97,500.00	\$282.00	\$141,000.00
25	PCC CURB, TYPE A1-VAR	154	\$61.00	LF	\$9,394.00	\$58.00	\$8,932.00	\$86.00	\$13,244.00	\$45.00	\$6,930.00	\$120.00	\$18,480.00
26	PCC CURB & GUTTER, TYPE A2-6	40	\$66.00	LF	\$2,640.00	\$96.00	\$3,840.00	\$186.00	\$7,440.00	\$69.00	\$2,760.00	\$177.00	\$7,080.00
27	PCC CURB & GUTTER, TYPE A2-8	43	\$88.00	LF	\$3,784.00	\$96.00	\$4,128.00	\$157.00	\$6,751.00	\$73.00	\$3,139.00	\$167.00	\$7,181.00
28	PCC CURB & GUTTER, TYPE A2-VAR	586	\$77.00	LF	\$45,122.00	\$96.00	\$56,256.00	\$61.00	\$35,746.00	\$73.00	\$42,778.00	\$156.00	\$91,416.00
29	PCC WALK, 4" THICK	2286	\$16.00	SF	\$36,576.00	\$15.00	\$34,290.00	\$18.00	\$41,148.00	\$15.00	\$34,290.00	\$33.00	\$75,438.00
30	PCC CURB RAMPS	38	\$1,430.00	CY	\$54,340.00	\$1,400.00	\$53,200.00	\$1,455.00	\$55,290.00	\$1,200.00	\$45,600.00	\$2,500.00	\$95,000.00
31	PCC DRIVEWAYS, 6" THICK	36	\$17.00	SF	\$612.00	\$23.00	\$828.00	\$112.00	\$4,032.00	\$36.00	\$1,296.00	\$52.00	\$1,872.00
32	DETECTABLE WARNING SURFACE	313	\$50.00	SF	\$15,650.00	\$63.00	\$19,719.00	\$62.00	\$19,406.00	\$80.00	\$25,040.00	\$54.00	\$16,902.00
33	CROSS GUTTER (MOD, HIGH EARLY STRENGTH)	46	\$770.00	CY	\$35,420.00	\$1,300.00	\$59,800.00	\$1,050.00	\$48,300.00	\$750.00	\$34,500.00	\$2,000.00	\$92,000.00
34	REMOVE EXISTING CONCRETE CULVERTS PER PLAN SHEET 3 & 4	1	\$26,400.00	LS	\$26,400.00	\$5,000.00	\$5,000.00	\$18,100.00	\$18,100.00	\$50,000.00	\$50,000.00	\$35,000.00	\$35,000.00

Project ID: RMD4102001

Rids Opened: 7/18/2023

Bids Opened: 7/18/2023 Project Manager: Selim Bouhamidi n/a

			Engineer's Estimate (1) Excel Paving Company		(2) Sully-Miller Contracting Company		(3) Toro Enterprises, Inc.		(4) All American Asphalt				
(1) Pre	(1) Preliminary Bid Amount		\$4,278,695.60			\$	4,519,285.30	\$5,207,506.50		\$5,937,976.00			
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
35	RECONSTRUCT CULVERT INLET PER DETAIL ON SHEET 3	1	\$7,700.00	EA	\$7,700.00	\$6,300.00	\$6,300.00	\$9,000.00	\$9,000.00	\$10,000.00	\$10,000.00	\$5,600.00	\$5,600.00
36	RECONSTRUCT EXISTING CATCH BASIN CURB FACE PER SHEET 4	1	\$7,700.00	EA	\$7,700.00	\$6,700.00	\$6,700.00	\$8,100.00	\$8,100.00	\$10,000.00	\$10,000.00	\$5,300.00	\$5,300.00
37	FURNISH AND INSTALL CATCH BASIN GRATE PER CALTRANS STD PLAN D77B, TYPE 18-9X GRATE	5	\$3,850.00	EA	\$19,250.00	\$1,600.00	\$8,000.00	\$3,000.00	\$15,000.00	\$10,000.00	\$50,000.00	\$6,310.00	\$31,550.00
38	METAL HAND RAILINGS PER STD PLAN 606	18	\$495.00	LF	\$8,910.00	\$300.00	\$5,400.00	\$80.00	\$1,440.00	\$600.00	\$10,800.00	\$575.00	\$10,350.00
39	2" CONDUIT (SCH 80 PVC)	20	\$33.00	LF	\$660.00	\$125.00	\$2,500.00	\$275.00	\$5,500.00	\$116.00	\$2,320.00	\$114.00	\$2,280.00
40	3" CONDUIT (SCH 80 PVC)	95	\$51.00	LF	\$4,845.00	\$110.00	\$10,450.00	\$680.00	\$64,600.00	\$116.00	\$11,020.00	\$114.00	\$10,830.00
41	COMPOSITE TYPE 2 PULL BOX INCL COVER	1	\$1,000.00	EA	\$1,000.00	\$1,600.00	\$1,600.00	\$2,520.00	\$2,520.00	\$2,300.00	\$2,300.00	\$2,300.00	\$2,300.00
42	COMPOSITE TYPE 3 PULL BOX INCL COVER	14	\$1,200.00	EA	\$16,800.00	\$1,500.00	\$21,000.00	\$2,860.00	\$40,040.00	\$2,300.00	\$32,200.00	\$2,300.00	\$32,200.00
43	2-PAIR DETECTOR LEAD-IN CABLE	1300	\$3.00	LF	\$3,900.00	\$3.00	\$3,900.00	\$6.00	\$7,800.00	\$5.60	\$7,280.00	\$6.00	\$7,800.00
44	INDUCTIVE LOOP DETECTOR AND LEADS SAW CUT	3967	\$15.00	LF	\$59,505.00	\$21.00	\$83,307.00	\$40.00	\$158,680.00	\$12.50	\$49,587.50	\$12.00	\$47,604.00
45	REMOVE ELECTRICAL SERVICE	1	\$700.00	EA	\$700.00	\$1,500.00	\$1,500.00	\$820.00	\$820.00	\$348.00	\$348.00	\$341.00	\$341.00
46	REMOVE PULL BOX AND RESURFACE SIDEWALK	16	\$500.00	EA	\$8,000.00	\$300.00	\$4,800.00	\$400.00	\$6,400.00	\$926.00	\$14,816.00	\$908.00	\$14,528.00
47	REMOVE TYPE 1 STANDARD (COMPLETE) (EXCL. FOUND.)	1	\$650.00	EA	\$650.00	\$500.00	\$500.00	\$1,300.00	\$1,300.00	\$579.00	\$579.00	\$568.00	\$568.00
48	REMOVE TYPE 15 STANDARD (COMPLETE) (EXCL. FOUND.)	3	\$750.00	EA	\$2,250.00	\$1,500.00	\$4,500.00	\$2,250.00	\$6,750.00	\$926.00	\$2,778.00	\$908.00	\$2,724.00

Project ID: RMD4102001 Bids Opened: 7/18/2023

Bids Opened: 7/18/2023 Project Manager: Selim Bouhamidi n/a

	E		Engineer's Estimate		(1) Excel Paving Company		(2) Sully-Miller Contracting Company		(3) Toro Enterprises, Inc.		(4) All American Asphalt		
(1) Pre	eliminary Bid Amount					\$4,278,695.60		\$	\$4,519,285.30		\$5,207,506.50		5,937,976.00
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	Qty	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
49	REMOVE TYPE 19 STANDARD (COMPLETE) (EXCL. FOUND.)	1	\$1,000.00	EA	\$1,000.00	\$1,600.00	\$1,600.00	\$3,100.00	\$3,100.00	\$1,160.00	\$1,160.00	\$1,135.00	\$1,135.00
50	REMOVE VEHICLE HEAD (COMPLETE)	5	\$300.00	EA	\$1,500.00	\$100.00	\$500.00	\$210.00	\$1,050.00	\$93.00	\$465.00	\$91.00	\$455.00
51	REMOVE PEDESTRIAN PUSH BUTTON	1	\$150.00	EA	\$150.00	\$120.00	\$120.00	\$750.00	\$750.00	\$58.00	\$58.00	\$57.00	\$57.00
52	REMOVE TYPE 1 FOUNDATION	1	\$650.00	EA	\$650.00	\$800.00	\$800.00	\$4,800.00	\$4,800.00	\$1,200.00	\$1,200.00	\$1,135.00	\$1,135.00
53	REMOVE TYPE 15 FOUNDATION	3	\$750.00	EA	\$2,250.00	\$1,500.00	\$4,500.00	\$6,600.00	\$19,800.00	\$1,500.00	\$4,500.00	\$1,476.00	\$4,428.00
54	REMOVE TYPE 19 FOUNDATION	1	\$1,000.00	EA	\$1,000.00	\$1,600.00	\$1,600.00	\$7,100.00	\$7,100.00	\$1,740.00	\$1,740.00	\$1,703.00	\$1,703.00
55	RELOCATE RETRO REFLECTIVE STREET NAME SIGN	1	\$1,000.00	EA	\$1,000.00	\$600.00	\$600.00	\$2,100.00	\$2,100.00	\$1,160.00	\$1,160.00	\$1,135.00	\$1,135.00
56	TYPE 1 STANDARD	1	\$2,000.00	EA	\$2,000.00	\$2,400.00	\$2,400.00	\$3,800.00	\$3,800.00	\$2,790.00	\$2,790.00	\$2,725.00	\$2,725.00
57	TYPE 15 STANDARD	3	\$4,280.00	EA	\$12,840.00	\$6,000.00	\$18,000.00	\$6,900.00	\$20,700.00	\$5,600.00	\$16,800.00	\$5,505.00	\$16,515.00
58	TYPE 19 STANDARD	1	\$8,250.00	EA	\$8,250.00	\$15,000.00	\$15,000.00	\$23,000.00	\$23,000.00	\$19,500.00	\$19,500.00	\$19,071.00	\$19,071.00
59	TYPE 1 STANDARD FOUNDATION	1	\$1,380.00	EA	\$1,380.00	\$3,500.00	\$3,500.00	\$6,200.00	\$6,200.00	\$2,400.00	\$2,400.00	\$2,300.00	\$2,300.00
60	TYPE 15 STANDARD FOUNDATION	3	\$2,640.00	EA	\$7,920.00	\$4,800.00	\$14,400.00	\$10,700.00	\$32,100.00	\$3,100.00	\$9,300.00	\$2,900.00	\$8,700.00
61	TYPE 19 STANDARD FOUNDATION	1	\$3,240.00	EA	\$3,240.00	\$7,500.00	\$7,500.00	\$15,200.00	\$15,200.00	\$7,000.00	\$7,000.00	\$6,800.00	\$6,800.00
62	20' SIGNAL MAST ARM	1	\$2,000.00	EA	\$2,000.00	\$5,000.00	\$5,000.00	\$6,100.00	\$6,100.00	\$5,000.00	\$5,000.00	\$4,881.00	\$4,881.00
63	12' LUMINAIRE MAST ARM	2	\$900.00	EA	\$1,800.00	\$1,900.00	\$3,800.00	\$1,300.00	\$2,600.00	\$1,000.00	\$2,000.00	\$965.00	\$1,930.00
64	8' LUMINAIRE MAST ARM	2	\$800.00	EA	\$1,600.00	\$1,500.00	\$3,000.00	\$800.00	\$1,600.00	\$650.00	\$1,300.00	\$636.00	\$1,272.00
65	150 W HPS LUMINAIRE	1	\$750.00	EA	\$750.00	\$1,200.00	\$1,200.00	\$2,300.00	\$2,300.00	\$1,100.00	\$1,100.00	\$988.00	\$988.00
66	200 W HPS LUMINAIRE	3	\$750.00	EA	\$2,250.00	\$1,300.00	\$3,900.00	\$2,400.00	\$7,200.00	\$1,100.00	\$3,300.00	\$1,079.00	\$3,237.00
67	PEDESTRIAN PUSH BUTTON	4	\$1,325.00	EA	\$5,300.00	\$400.00	\$1,600.00	\$850.00	\$3,400.00	\$350.00	\$1,400.00	\$341.00	\$1,364.00
68	PEDESTRIAN PUSH BUTTON POST	1	\$960.00	EA	\$960.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,100.00	\$1,100.00	\$994.00	\$994.00

Project ID: RMD4102001

Rids Opened: 7/18/2023

Bids Opened: 7/18/2023 Project Manager: Selim Bouhamidi n/a

			Engine	er's Estimate	(1) Excel Paving Company		(2) Sully-Miller Contracting Company		(3) Toro Enterprises, Inc.		(4) All American Asphalt		
(1) Pre	eliminary Bid Amount			\$4,278,695.60				\$	4,519,285.30	\$	5,207,506.50	\$5,937,976.00	
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
69	PEDESTRIAN PUSH BUTTON POST FOUNDATION	1	\$600.00	EA	\$600.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00	\$950.00	\$950.00	\$908.00	\$908.00
70	3-12" LED VEHICLE HEAD (COMPLETE)	9	\$1,200.00	EA	\$10,800.00	\$1,500.00	\$13,500.00	\$1,600.00	\$14,400.00	\$1,500.00	\$13,500.00	\$1,521.00	\$13,689.00
71	SOLAR FLASHING BEACON (MODEL R829-C)	1	\$1,500.00	EA	\$1,500.00	\$12,000.00	\$12,000.00	\$13,100.00	\$13,100.00	\$13,000.00	\$13,000.00	\$11,925.00	\$11,925.00
72	LED PEDESTRIÁN HEAD (COMPLETE)	4	\$1,600.00	EA	\$6,400.00	\$1,200.00	\$4,800.00	\$1,200.00	\$4,800.00	\$1,200.00	\$4,800.00	\$1,136.00	\$4,544.00
73	3-CONDUCTOR SIGNAL CABLE(EXCLUDING CONDUIT)	448	\$3.00	LF	\$1,344.00	\$4.00	\$1,792.00	\$6.00	\$2,688.00	\$5.00	\$2,240.00	\$5.00	\$2,240.00
74	5-CONDUCTOR SIGNAL CABLE(EXCLUDING CONDUIT)	453	\$4.00	LF	\$1,812.00	\$4.00	\$1,812.00	\$6.00	\$2,718.00	\$7.00	\$3,171.00	\$7.00	\$3,171.00
75	12-CONDUCTOR SIGNAL CABLE(EXCLUDING CONDUIT)	453	\$5.00	LF	\$2,265.00	\$8.00	\$3,624.00	\$9.00	\$4,077.00	\$8.00	\$3,624.00	\$8.00	\$3,624.00
76	#10 WIRE	453	\$2.00	LF	\$906.00	\$2.00	\$906.00	\$2.50	\$1,132.50	\$3.50	\$1,585.50	\$4.00	\$1,812.00
77	DETAIL 8 (THERMOPLASTIC)	6963	\$6.00	LF	\$41,778.00	\$1.00	\$6,963.00	\$1.45	\$10,096.35	\$0.90	\$6,266.70	\$1.50	\$10,444.50
78	DETAIL 9 (THERMOPLASTIC)	5751	\$6.00	LF	\$34,506.00	\$1.10	\$6,326.10	\$1.60	\$9,201.60	\$1.00	\$5,751.00	\$1.50	\$8,626.50
79	DETAIL 21 (THERMOPLASTIC)	4945	\$12.00	LF	\$59,340.00	\$1.30	\$6,428.50	\$2.00	\$9,890.00	\$2.00	\$9,890.00	\$2.00	\$9,890.00
80	DETAIL 22 (THERMOPLASTIC)	3328	\$12.00	LF	\$39,936.00	\$1.40	\$4,659.20	\$2.00	\$6,656.00	\$2.00	\$6,656.00	\$2.00	\$6,656.00
81	DETAIL 28 (THERMOPLASTIC)	230	\$24.00	LF	\$5,520.00	\$4.00	\$920.00	\$2.00	\$460.00	\$3.50	\$805.00	\$2.00	\$460.00
82	DETAIL 29 (THERMOPLASTIC)	152	\$24.00	LF	\$3,648.00	\$4.00	\$608.00	\$2.00	\$304.00	\$3.75	\$570.00	\$2.00	\$304.00
83	DETAIL 31 (THERMOPLASTIC)	487	\$24.00	LF	\$11,688.00	\$4.00	\$1,948.00	\$4.00	\$1,948.00	\$2.30	\$1,120.10	\$3.50	\$1,704.50
84	DETAIL 38 (THERMOPLASTIC)	264	\$8.00	LF	\$2,112.00	\$1.20	\$316.80	\$2.50	\$660.00	\$2.00	\$528.00	\$2.50	\$660.00
85	DETAIL 38A (THERMOPLASTIC)	985	\$8.00	LF	\$7,880.00	\$1.10	\$1,083.50	\$2.50	\$2,462.50	\$1.80	\$1,773.00	\$2.20	\$2,167.00

Project ID: RMD4102001

Rids Opened: 7/18/2023

Bids Opened: 7/18/2023 Project Manager: Selim Bouhamidi n/a

			Engineer's Estimate		(1) Excel Paving Company		(2) Sully-Miller Contracting Company		(3) Toro Enterprises, Inc.		(4) All American Asphalt		
(1) Preliminary Bid Amount				\$4,278,695.60		\$4,519,285.30		\$5,207,506.50		\$5,937,976.00			
(2) Un	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
86	DETAIL 40 (THERMOPLASTIC)	110	\$6.00	LF	\$660.00	\$5.00	\$550.00	\$6.00	\$660.00	\$1.50	\$165.00	\$5.50	\$605.00
87	DETAIL 41 (THERMOPLASTIC)	36	\$6.00	LF	\$216.00	\$5.00	\$180.00	\$6.00	\$216.00	\$1.50	\$54.00	\$5.50	\$198.00
88	PAVEMENT MARKINGS (THERMOPLASTIC)	1615	\$7.00	SF	\$11,305.00	\$7.00	\$11,305.00	\$16.00	\$25,840.00	\$7.50	\$12,112.50	\$15.00	\$24,225.00
89	6" STRIPING (THERMOPLASTIC)	3111	\$6.00	LF	\$18,666.00	\$1.00	\$3,111.00	\$2.00	\$6,222.00	\$2.70	\$8,399.70	\$2.00	\$6,222.00
90	12" STRIPING (THERMOPLASTIC)	1297	\$10.00	LF	\$12,970.00	\$4.00	\$5,188.00	\$5.40	\$7,003.80	\$4.50	\$5,836.50	\$5.00	\$6,485.00
91	24" STRIPING (THERMOPLASTIC)	6809	\$14.00	LF	\$95,326.00	\$8.00	\$54,472.00	\$9.00	\$61,281.00	\$7.00	\$47,663.00	\$8.50	\$57,876.50
92	REMOVE STRIPING AND MARKINGS (PAINT)	2516	\$7.00	SF	\$17,612.00	\$3.00	\$7,548.00	\$6.00	\$15,096.00	\$3.00	\$7,548.00	\$5.50	\$13,838.00
93	INSTALL FIRE HYDRANT LOCATION RPM	52	\$7.00	EA	\$364.00	\$15.00	\$780.00	\$28.00	\$1,456.00	\$14.00	\$728.00	\$25.00	\$1,300.00
94	SIGN PANEL	2	\$250.00	EA	\$500.00	\$250.00	\$500.00	\$306.00	\$612.00	\$172.00	\$344.00	\$281.00	\$562.00
95	REMOVE SIGN	2	\$100.00	EA	\$200.00	\$75.00	\$150.00	\$98.00	\$196.00	\$70.00	\$140.00	\$90.00	\$180.00
96	TRAFFIC CONTROL	1	\$146,500.00	LS	\$146,500.00	\$562,000.00	\$562,000.00	\$228,000.00	\$228,000.00	\$850,000.00	\$850,000.00	\$732,877.00	\$732,877.00
97	FLASHING ARROW SIGN	7	\$5,000.00	EA	\$35,000.00	\$3,600.00	\$25,200.00	\$7,100.00	\$49,700.00	\$10,000.00	\$70,000.00	\$4,100.00	\$28,700.00
98	CHANGEABLE MESSAGE SIGN	3	\$5,000.00	EA	\$15,000.00	\$7,200.00	\$21,600.00	\$13,000.00	\$39,000.00	\$15,000.00	\$45,000.00	\$5,500.00	\$16,500.00
Unit Price Total		\$	3,436,191.50	\$	4,278,695.60		\$4,519,285.30	9	5,207,506.50		\$5,937,976.00		
(3) LS	BE/DVBE/SE Preference Amount						\$0.00		\$0.00		\$0.00		\$0.00
(4) LSBE/DVBE/SE Adjusted Amount					\$	4,278,695.60		\$4,519,285.30	9	5,207,506.50		\$5,937,976.00	
Comments						APPARENT L	OW BIDDER						